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[BEH2] %4 HMEANHNEZ—
1. MEERFIAEL
SHTEE SH2EE SHISEE SHA4EE
EHHB HiE ST HiE R HiE ES T SHiE EiE
0T (45) 111 110 82 110 50 80
T AZR(AN) 1,000 553 1,000 315 1,000 175 400
2. BENXE
SHTEE SH2EE SHISEE SHA4EE
EHHB HiE ST HiE ST HiE ES T SHiE EiE
EEEER 620,400 620,400 623,000 620,400 620,400 620,400 620,400
FIRRLSILA 160,000 84,894 160,000 65,432 160,000 84,073 160,000
EETON 125,000 85,348 125,000 91,076 125,000 88,128 125000
LA 300 1 600 2 600 0 300
D 8,410 8,410 10,170 10,170 7,136 7,136 6,980
IR AET(A) 914,110 799,053 918,770 787,080 913,136 799,737 912,680
X HEH(B) 914,110 788,883 918,770 779,944 913,136 792,757 912,680
EEINK(A—B) 0 10,170 0 7,136 0 6,980 0




